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OCHOBA HA NMOTKPOBJE - CTAH 4
P.3p| HAMEHA nof 0M) | nim)
T TXOIA VR 870 1540 HETO MOBPUWWHA 107.06m2
2 [KYJHA KEP. NAOYKH 9.90 5.90 TEPACY o2
ST KEP TVI0NKH 940 76 BKYMHA HETO MOBPIIAHA 116.26 m2
L | TPNE3APKIA MAPKET 11.95 16.85
5 |[HEBHA COBA MAPKET 17.90 19.15
6 [BAbA KEP. MIAOYKH 8.15 3.6k
7 [BARBA KEP. MIAOYKH 9.80 5.43
8 [DErAXMAH KEP. MAOYKH 140 1.43
9 |CMAMHA COBA MAPKET 13.40 10.17
10 | TEPACA KEP. N/NI0YKH 1.40 3.bk
11 |TAPJEPOBEP NAPKET 11.80 1.20
12 |CnAMHA COBA MAPKET 18.39 16.01
13 |cnAMHA CoBA MAPKET 13.99 10.88
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